Welcome to download the Newest 2passeasy 1z0-808 dumps

@ 2 P QsseaQs ':J https://lwww.2passeasy.com/dumps/1z0-808/ (223 New Questions)

Exam Questions 1z0-808

Java SE 8 Programmer |

https://www.2passeasy.com/dumps/1z0-808/

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-808 dumps

@ 2 p QsseaqQs ":J https://www.2passeasy.com/dumps/1z0-808/ (223 New Questions)

NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)
ta.replace (TCT, TDT);
ta = ta.concat (th)
System.out.println (ta) ;

}

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
You are asked to create a method that accepts an array of integers and returns the highest value from that array.
Given the code fragment:

class Test{
public static void main(String[] args) {
int numbers[] = {12, 13, 42, 32, 15, ‘ibeé, 23, 51, 12}}
int[] keys = findMax (numbers);

/* line nl */ {
int[] keys = new int[3]:;
/* code goes here*/
return keys;

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 3
You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.
> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?
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A
public absztract class Toy/{
public abstract int calculatePrice (Toy t);
public volid printToy (Tey t) { /* code goes here */ }
i
B
public abstract class Toy |
public int calculatePrice (Toy t) :
public wveid printToy (Toy t)
!
C
public abstract class Toy |
public int calculatePrice (Toy t):
public final wveid printToy (Tey t)f{ /* code goesz here */ |}
!
D
public abstract class Toy |
public abstract int calculatePrice(Toy t) { /* code goes here */ 1}
public abstract weid printTey(Toey t) { /* code goes here */ )
!
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 4

Given:
String stuff = "TV";
String res = null;

if (stuff.equals("TV")}) {

res = "Walter™:;
} else if (stuff.equals("Movie™)} {
res = "White";
}oelse |
res = "No Result"™;
}
Which code fragment can replace the if block?
A
stuff.equals (“TV”) ? res= “Walter” : stuff.equals (“Movie”) ?
res = “White” : res = “No Result”;
B
res = stuff.equals (“"TV"”) ? “"Walter” else stuff.equals
(“Movie”)? “White” : “No Result”;
C
ras = stuff.equals (“TV”) ? stuff.equals (“Movie”)? “Walter” :
“White” : “No Result”;
D
res = stuff.equals (“TV"”)? “Walter” : stuff.equals (“Movie”)?
“White” : “No Result”;
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 5
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Given the code fragment:

public static woid main (String[] argsa) |

String[] arr = (“Hi”, “How", “Are”, “You");

List<String>» arrlist = new ArrayList<> (Arrays.asli=st (arr);

if (arrList.removeIf((String =) -> (return s.length() <= 2;)))

System.out.println(s + “removed”)”’

}

What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 6
Given the code fragment:

int x® = 100;

int a = #++;
int b = +4x;
int o = xt++;

int d = {a < kY 72 (a < <) 7 a: (b <c 17 b o ®1;
System.out.println(d) ;

What is the result?

A. 100
B. 101
C. 102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 7
Given this code for a Planet object:
public class Planet ({
public String name;
public int moons;

public Planet (String name, 1int moons)
this.name = name;
this.moons = moons;

And this method:

public static void main (String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth”, 1),
new Planet ("Mars"”, 2)

System.out.println(planets) ;

System.out.praintln(planets([2].name) ;

System.out.println(planets(2].moons) ;
}

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets=s. Planet@dadiadadc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planet@adiadafc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wenus
]

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 8
Given the code fragment:

public static void main(String[] args) {
int data[] = {2010, 2013, 2014, 2015,
int key = 2014;

int count = 0;
for (int e: data) {
if (e != key) {
continue;
count++;

}
}
System.out.print (count +

T

Found") ;
1
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 9

Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.

Answer: D

NEW QUESTION 10
Given the code fragment:
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antin Il Bl = {41, 3), 42, 4 k)
for {(int i = n.length-1; 1 >= 0; 1——} {
for' iant v:3 nlil) 4

System.out.print (vy};

gt

gt

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 10
Given the code from the Greeting.Java file:

public class Greeting |
public static void maini{8tring[] args) |
Syvstem.out.println{"Hello " + args[0]):;

}

Which set of commands prints Hello Duke in the console?

© A) javac Greeting
Java Greeting Duke

~ B) javac Greeting.java Duke
Java Greeting

¢~ Cliavad Brasting. Java
Java Greeting Duke

- D) javac: Greeting. java
Java Greeting.class Duke

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 14
This grid shows the state of a 2D array:

0 ]
]

X
The grid is created with this code:
char[][] grid = new char[3][3];
grid[1][1] = X’;
grid[0] [0] = *0*;
grid[2][0] = ‘X’;
grid[0][1] = *0';
grid[2][2] = “X’;
grid[1][2] = *0;
{f/line ni

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?
A. grid[2][1] = *X;
B. grid[3][2] = ‘X’;
C. grid[3][1] = ‘X
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 17
Given:
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public class MyClass
public static void main(String[] args)
String s = "Java SE 8 1";
int len = s.trim().length();

System.out.print (len);

What is the result?

A. Compilation fails.
B. 11
C.8
D.9
E. 10

Answer: B

NEW QUESTION 22

Given the code fragment:

public class Employves |
String name;
boolean contract:
doubkle =zalary;
Emploves () |

/4 line nl

}
piblic: Strihg-toSteing (¥

return name + ":" + contract +

+ =alary:

}

public static vold main(Stringl[] args) |
Emploves & = new Emploves () ;
/4 line nZ
System.out.print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 25
Given:
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class Product
double price;

public class Test |
public void updatePrice (Product product,
price = price * 2;

product.price = product.price + price;

H
public static void main(String[] args) {

Product prt = new Product ();
prt.price = 200;
double newPrice = 100;

Test £t = new Test () ;
t.updatePrice (prt, newPrice) ;
System.out.println (prt.price + " : "

}
What is the result?
A. 200.0: 100.0
B. 400.0 : 200.0
C. 400.0: 100.0

D. Compilation fails.

Answer: C

NEW QUESTION 28

Given:
class &
public wvoid test () {
System.out.println(™A "):;
}
}

class B extends &
public wvoid test() {
System.out.println{"B "}

}

public class C extends A {
public wvoid test () {
System.out.println{("Cc "):
}

public static wvoid main(Stringl[] args) {
A bl = new A():
A b2 = new C{):
A b3 = (B) b2; //line nl
bl = (&) bz; //line n2
bl.test(};
b3.test (};

}

What is the result?

A. AB
B. AC
C.CccC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 32
Given the code fragment:
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abstract class Toy {
int price;
4 line nl

h

Which three code fragments are valid at line n1?

A
public static wvoid insertToy() {
/* code goes here */
}
B
final Toy getToy () {
return new Toy():
}
C
puklic void printTov();
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount();
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 37
Given this class:
public class CheckingAccount {

public int amount;
//1line nl
}

And given this main method, located in another class:

public static void main(String[] args) {
CheckingZccount acct = new Checkinglccount () ;
//1line n2

¥

Which three pieces of code, when inserted independently, set the value of amount to 100?
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A
AL 1ine nl insert:
public CheckinglAccount () {
amount = 100;
¥
B
At 1ine nZ insert:
this.amount = 100;
L
AL 1ine nZ insert:
amount = 100;
1]
AL 1ine nl insert:
public Checkingzccount () {
this.amount = 100;
¥
E
At 1ine nZ insert:
acct.amount = 100;
F
Af 1ine nl insert:
public CheckingAccount () {
acct.amount = 100;
j;
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F
Answer: DE

NEW QUESTION 38
Given:
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Base.java:
class Base |

public void test(}{
System.out.println("Base ");

DerivedA.java:
class Derivedl extends Base |
public void test(){
System.out.println("Deriveda ");
}
DerivedB.java:
class DerivedB extends Derivedh |

public void test(){
System.out.println("DerivedB ") ;

}

public static void main({String[] args) {
Base bl = new DeriwvedB () :
Base b2 = new Deriveda():;
Base b3 = new DeriwvedB () :;

Base b4 = b3;
bl = (Base)}) b2;
bl stest i)

b4 .test ()

H

What is the result?

A. BaseDerivedA

B. BaseDerivedB

C. DerivedBDerivedB

D. DerivedBDerivedA

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 42
Given the code fragment:

7. 8tringBuilder sbl = new StringBuilder {"Duke") ;
8. 8tring strl = sbl.toString/();

9. // insert code here

10. Svstem.out.print (strl == str2);

Which code fragment, when inserted at line 9, enables the code to print true?
A. String str2 = strl;

B. String str2 = new String(strl);

C. String str2 = sh1. toString();

D. String str2 = "Duke";

Answer: A

NEW QUESTION 44
Given the code fragment:
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int wd = 0;

String days[] = ("sun®, "mon", “wed"”, “sat”);:

for (String s:days) |
awiteh (s) |
case "“sat?:
case “sun":
wd == 1:
break ;
case “mon’
wad++;
case “wed":
wd += 2;

}
System.out.println(wd) ;

What is the result?

. Compilation fails.

Answer: A

NEW QUESTION 49
Given:

public cla=ss Test |

public static void main(String[] args)

Test ta = new Testi);

System.cut.print (isAvailable + ™ %);

ishivalilakle= t=.do3tuff () ;

System.cut.println{i=sfhvailabls);

1

puklic static boolean deoStuff() {
return l!iskvailakle;

1

static boolean iskvailakle = false;

1
What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 50
Given the code fragment:

public static void maini(Stringl[] args)
StringBuilder =k = new StringBuilder ("Java™);

String = = "Java" ;

if (=gb.toString() .eqguals(s.toString()))
System.out.println{"Match 1");

Voelzge 1f (sh.equalsi=)) |

gystem.out.println("Match 2");

Voelze

System.out. println("No Match™);

1
What is the result?
A. Match 1
B. Match 2
C. No Match
D. A NullPointerException is thrown at runtime.

Answer: A

NEW QUESTION 51
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Given:

class Caller
private void init () {
System.out.println(“Initialized”) ;

private wvoid start () {

init () ;
System.out.println (“Started”) ;
}
}
public class TestCall {
public static void main(Stringl] args) {
Caller o — new Caller{):
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 52
Given the code fragment:

3. public static wvoid main(String[] args) /{

4, int x = 6;

5. while (isAwailable(x)} {

6. System.out.print (x) ;

7.

3. }

9. 1

10.

11. public static boolean isAvailable (int x) {
12 return ——-x > 0 ? true :| false;

13. 1

Which modification enables the code to print 543217

A. Replace line 6 with System.out.print (--X);

B. At line 7, insert x --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 56
Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.

B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.

D. A package must contain a main class.

E. Object is the root class of all other objects.

F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 58
Which statement will empty the contents of a StringBuilder variable named sb?

A.s

B. deleteAll ();
C.s

D. delete (0, s
E. size ());
F.s
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G. delete (0, s
H. length () );
I.s

J. removeAll ();

Answer: C

NEW QUESTION 59
Given the code fragment:
it {avar++ < 100
System.out.println(avar 4+ " Hello Universel™);
Voelze
System.out.println(avar + " Hello World!l™);

}

What is the result if the integer avar is 9?

A. Compilation fails.
B. 10 Hello Universe!
C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 63
Given the code fragment:

rublic static voild main{String[] args)

int[][] arr = new int [2] [4]:
arr[0] = new int [141, 3, 5, 71;:
arr[l] = new int []14{1l, 3}:
for {(int[] a : arr)

for {int 1 : =)

System.out.print(i+ » M) ;

}
System.out.printlni);

}
What is the result?

A Compilation fails.

|_I.

'_'.
L L

1 3
followed by an ArrayIndexOutOfBoundsException

=
L
[
[

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: E

Explanation:
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NEW QUESTION 67

Which three statements are true about the structure of a Java class? (Choose three.)

155 MyCloss {
public static vold main (String [ orgs) {
rt (10 are =new int (2] [4];
grr[®] = nen int [ {1, 3, 5. 7H
gre[1] = nex int [1 {1, 34
rlint Oaiarr){
for (int 1 : q) {

Svsten.put.printCis © °);
:

System,out.println (J;

A. A class cannot have the same name as its field.
B. A public class must have a main method.
C. A class can have final static methods.

D. A class can have overloaded private constructors.

E. Fields need to be initialized before use.

F. Methods and fields are optional components of a class.

Answer: BDE

NEW QUESTION 68

Passing Certification Exams Made Easy

1DK

I [ S 3 s 1} TMOL.__JAeEEmwm v

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-808 dumps

@ 2 p QsseaqQs LJ https://www.2passeasy.com/dumps/1z0-808/ (223 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual 1z0-808 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
1z0-808 Product From:

https:/lwww.2passeasy.com/dumps/1z0-808/

Money Back Guarantee

1z0-808 Practice Exam Features:

* 170-808 Questions and Answers Updated Frequently
* 170-808 Practice Questions Verified by Expert Senior Certified Staff
* 170-808 Most Redlistic Questions that Guarantee you a Pass on Y our FirstTry

* 170-808 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

